= A
N & 0O & AF Y H AN AN
20208 & =& 2 3 LUSAHJIEISESH S ~ MRS
2x: 280z
M. 2lMsrE
S 2= A K& (e &)
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
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2 7,389,308 7,916,406 A 527,098
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2 500,000 0 500,000
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X2 =H 14,000 17,816 13,816
201 LBt HH| 10,000 13,816 A3,816
01 A2 22|l 10,000 13,816 13,816
(S=4l) 0 3,816 N3,816
1.25 0= 2 AN SAH HA 0 0 616 AB16
2.2M XNY2LX SAlH| 25 0% 0 3,200 A 3,200
252 Hegtael2d =H 0 290,000 A 290,000
308 XX ESHHME0H 0 290,000 A290,000
10 2II2SOHHE H AN EF AL 0 290,000 A 290,000
1.2020¢ 252 HizrAgl2 =A 3F ok 0 290,000 290,000
23 TE J|BAIE =A 23,095 80,000 A 56,905
401 Al HI 2 20| 23,095 80,000 A56,905
01 Al&HI 23,095 80,000 A56,905
1.252 JIBAIE =4 A 23,095,000 23,095 40,000 A 16,905
DLHA 250 A JEHAIE =M B 0 0 30,000 A 30,000
3.2SFE JIAE SXES I3 0% 0 10,000 210,000
Hele ZD 23t= ZH 28,800 40,600 A 11,800
201 YEre 9] 28,800 40,600 A 11,800
02 2229 H 0 600 2600
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03 B AF=2 G HI 28,800 40,000 A 11,200
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01 A2 22l | 4,000 7,200 A3,200
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01 AR 22l 1,203 2,000 AT797
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1.22AMY T2 2I(HEEX) FH 02 0 11,000 A 11,000
20 AN T2)H 2
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2& 1,000,000 1,000 2,000 21,000
03 A2 G H| 8,000 30,000 A 22,000
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